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(1) ZERERRE (SO2)
[BRBEAAE] 1 RERIE D 1 A FHE2Y 0.04ppm LA FTH O | >0, 1IFHEZ 0.1ppm LA F CTH D Z &,

(BRER : BIEXRS)

AR (R O (&)

ne | WE | o . S
(B) | (%0 | pm) | pm) | GEED | (%) | pm) | (B) | (%) | FFEPR:X
57 A 42 | 30 715 | 0.000 | 0.002 0 0.0 | 0.001 0 0.0 O
IR (BE) 30 716 | 0.000 | 0.005 0 0.0 | 0.002 0 0.0 O
(2) EREILY
7) ZERIEEZFR (NO2)
[BRBIAHUE] 1 HFRIMED 1 HEHIMEAS 0.04ppm 725 0.06ppm £ TOY = WNEIFZTNUTFTHLZ L,
g | WE | gy | 1D 0.06 iﬁ; iéJo f 51 0.06 it
WER AL | g |0 AR T e oma | prorssrosa | RO J
(B) | ) | @pm) | (pm) | (pm) | (A) | (%) (F) (%) HERER + X
BT EAE | 30 715 | 0.012 | 0.034 | 0.020 0 0.0 0 0.0 O
HiEE (B%) 30 715 | 0.008 | 0.025 | 0.015 0 0.0 0 0.0 O
FIRE (25) 30 715 | 0.006 | 0.025 | 0.013 0 0.0 0 0.0 O
1) —BRILER (NO) RUZEZRERILY (NOx)
_ —ib=EF#E (NO) _ ZHF{km (NO+NO2) D
(H) (IFfE) | (ppm) (ppm) (ppm) (H) (IFfE) | (ppm) (ppm) (ppm) (%)
BT PSSE | 30 715 | 0.006 | 0.039 0.013 30 715 | 0.018 | 0.069 0.033 65.9
BRER (%) 30 715 | 0.001 | 0.016 0.004 30 715 | 0.009 | 0.036 0.019 86.9
FIR (%) 30 715 0.001 0.023 0.004 30 715 0.008 0.048 0.016 82.5




(3) REEXFFLHEU b (Ox)

[BREsELUE] 1 HRREEDS 0.06ppm L FTHH Z &,

RO | RO FHD 1%; :ﬁﬁ i - s s

WER - #sg | EREC| WIERNE | | R O.OS%?EE#FE;% z O.élz‘ﬁzp;; #L%ﬁw ﬁiﬂ%w e O

() | G5 | opm) | Gpm) | () | GEED | (R) | (R | pm) |\ FEPEX
S HBGPS & 30 450 0.027 | 0.049 0 0 0 0 0.039 O
HHE (%) 30 450 0.029 | 0.050 0 0 0 0 0.040 O
IR (2%5) 30 449 0.032 | 0.050 0 0 0 0 0.042 @)

X TERIO 1 KEEME ) 1L 6 B D 20 KL C

(4) RAEKFR

(BREF. FBRBE : AEARI)
X ME EORE S WEED D BB AR D WITHETIMEBERAT (T Y U A X R) BN LTS,
7) EAR UEiEKFR (NMHC)

W W 6~9 RF DEEFHE 6~9 I 3 REMHI LIS | 6~9 Fr D> 3 IFIH] T {E DS
% SEEE e 0.20ppmC %8z 7= 0.31ppmC %8 2 7=
WER - g | HEC | RH “E,Jg SEEIE | R | AR AL 2 E A AR L 2 oE A
(H) () | (epmC) | (H) | (epmO) | (ppmC) | (ppmC) (H) (%) (H) (%)
BTS2 | 30 719 0.19 30 020 | 0.37 | 0.07 14 46.7 2 6.7
A4) A2 (CHy) RUZRIEKFR (THC)
A B 2 R b Kk F
" i e 6~9 FEDHEFHE il il 6~9 FFDOEFHE
WER RS | | PR B | e | Rt | s | P B R e | Pt | R | Rt
() (KD | epmC) | (H) | (ppmO) | (ppmC) | (ppmC) | (H) () | epmC) | (H) | (ppmOC) | (ppmC) | (ppmC)
B2 | 30 719 201 | 30 | 202 | 208 | 198 | 30 719 2.20 | 30 | 223 | 236 | 2.08




(5) FiEHFIRYME (SPM)
(B ALHE] 1 RFRE O 1 A EEEY 0.10mg/m3 LA FCTH Y | 2>, 1 KEEIEY 0.20mg/m3 LA FTH 5 Z &,

HZh il 1 Ky R OE H ¢ % A BREE AL
HE o A > - AR
= " M7 e 0.20mg/m3 % % 7= . 0.10mg/m3 = 2. 7=
WER -k g | REI ) e zome | SO0 pmezoms | #R:O
() | &) | (mgmd) | mgmd) | D | (%) | mgmd) | (B) (%) AL : X
IR e 30 720 0.005 0.061 0 0.0 0.016 0 0.0 O
fRHRFE (2%5) 30 719 0.008 0.043 0 0.0 0.019 0 0.0 O
HILE (%) 30 718 0.004 0.023 0 0.0 0.009 0 0.0 @)
(6) WUMRIFIRYE (PM2.5)
(2E) [BREAYE] 144 FEHEN 150 gm3 L FTHY., v, 1 HEHEN 35 ugm3 L FTHDHZ &,
H%h i H ¥ ¥ fi BREILUE (EHIAYE) o
\E = .
o miE | b | i | | EHIROFET (98%1H) |2 L%
e - Hm H %% ‘ - AEE | $rzoEs | 8 PofE | B 478 35 1 g/md & B2 7= A
(B) | (%R | (ugm? | (pgmd) | (ugm? | (H) (%) | (ug/m3) (H)
R THYEBGPS 2% | 30 720 7.0 71 17.0 0 0.0 14.7 0
RHE (25) 30 719 7.7 42 17.6 0 0.0 12.4 0
FIRE (%) 30 718 5.5 22 11.3 0 0.0 10.0 0
1 FEEII S EEHFN T,
(7) —B&ikmz%E (CO) (BREB. FIE : BEXRN)
[BRBEFEAE] 1 WFREMED 1 B EED 10ppm BLFTH Y . 3o, 1 REEfEO 8 R FIMEL 20ppm LA FTH D Z &,
B S . H 2 Bl e
\ Wz | DVE | g | LPE SRERMEZ 2000m & T T emar | Ak
BER - 5% | ng | Bl | BATERETORE | BRE | qy ) 2 pme { MRk O J
() | 56 | (ppm) | (opm) (&) %) | pm) | (B) | (%) | FFER: X
SRR 2 | 30 719 0.3 0.7 0 0.0 0.4 0 0.0 O




(8) BAm (WD) RURZE (WS)

75
b | wE | ey | RS | e
W - M4 H % P ] JRd JR ] e K JEOE
(H) | (FRD) | (m/s) | (16 HA0) (m/s)
B FH TSP 2 30 720 1.2 WSW 5.8
I
4G $HE (%)
N 3.8
NNE 3.8
NE 3.9
ENE 4.6
E 3.5
ESE 4.0
SE 6.1
SSE 3.3
S 4.0
SSW 5.1
SW 7.1
WSW 13.8
W 13.3
WNW 11.5
NW 5.4
NNW 2.9
CALM 3.9
N 0~1.0m/s | 1.1~2.0m/s | 2.1~3.0m/s | 3.1~4.0m/s | 4. 1~5.0m/s | 5.1~6.0m/s | 6.1~7.0m/s 7.1m/s~ Rit
i BIEH| % |BIEH| % |BIEH| % |BEH| % |AEHR| % |AEH| % |[AEH| % [BEH| % |BEH| %
NNE 25 | 926 2 74 0 00 0 00 0 00 0 00 0 00 0 00 27 38
NE 17 | 607 8 28.6 2 7.1 1 36 0 00 0 00 0 00 0 00 28 39
ENE 21 63.6 1 333 1 30 0 00 0 00 0 00 0 00 0 00 33 46
E 18 | 720 6 240 1 40 0 00 0 00 0 0.0 0 00 0 00 25 35
ESE 21 724 8 276 0 00 0 00 0 00 0 00 0 00 0 00 29 40
SE 35 | 795 9 205 0 00 0 00 0 00 0 00 0 00 0 00 44 6.1
SSE 21 875 3 125 0 00 0 00 0 00 0 00 0 00 0 00 24 33
s 26 | 897 3 103 0 00 0 00 0 00 0 00 0 00 0 00 29 40
SSW 24 | 649 9 243 3 8.1 1 2.7 0 0.0 0 00 0 00 0 0.0 37 5.1
SW 32 | 627 17 | 333 2 39 0 00 0 00 0 00 0 00 0 00 51 7.1
WSW 36 | 364 | 33 | 333 14 141 8 8.1 6 6.1 2 20 0 00 0 00 99 | 138
w 35 [ 365 | 30 | 313 15 156 10 10.4 5 5.2 1 10 0 00 0 00 96 | 133
WNW 30 | 36.1 16 193 15 181 13 15.7 8 96 1 12 0 00 0 00 83 | 115
NW 30 | 769 6 154 1 26 0 00 2 5.1 0 0.0 0 00 0 00 39 54
NNW 19 | 905 1 48 1 48 0 00 0 00 0 00 0 00 0 00 21 29
N 26 | 963 1 37 0 00 0 00 0 00 0 00 0 00 0 00 27 38
CALM 28 [1000| O 00 0 00 0 00 0 00 0 00 0 00 0 00 28 39
Rt 444 163 55 33 21 4 0 0 720 | 1000

CALMIZ 5472 (BER0.2 m/sec A TDIHZE) ERT .




(9) ‘BE (TEMP)

a | 1 B E ERZS
\ WIE | IR | P —— —
WIS - M4 A %% Bl | RS | Bl | iR
) | @) | o | o) | «© | o) | co
AR TR S 2 30 720 2.6 16.0 -6.2 8.6 -2.5
(10) i2E (HUM)
A 1 B ERZS
\ WIE | IR | P —— —
W - M4 A %% Bl | RS | Bl | iR
(B) | &R | (%) | (%) | %) | (%) | (%)
AR TP 84 2 30 720 66 96 15 91 43
(11) BEE (SUM)
A2
‘ miE | s | LIS
WER - #A% | g AR
(B) | (%) | M/m2
) 1 T VEBG P S & 30 720 92.64




(1 2) BFZIRIEARMTFHE
1537
S 1|23 |4 |5 |6 | 7|89 |10|11|12|13|14|15|16|17|18|19|20 |21 |22 |23 |24
bR (ppb) 0 01]0 0|00 ojo{ojO0O|lO|O]O]O|O|O|]O]O|]O|O
— {22 5% (ppb) 6 | 6|7 6 | 8 |12 16| 11 4 3 4 | 5|6
“ (b #EF (ppb) 16| 15|14 | 14 |14 | 14|17 |18 |13 |10| 9 | 8 [ 6 | 6 | 6 | 6 | 7 | 9 |10 |11 |13 |14 | 15| 15
2 R4 (ppb) 221212121 /2022|129 |34 |24 |18 |15|13|10|10| 9 |10 |10 |13 |13 |14 |16 |18 |20 |20
— (k% 5%(0.1ppm) 2122|222 |3|4|4|3|3|2|2|2|2|2|2|3|3|[3|[3|2]|2]2
Sk A ¥ 2 Mppb) |17 |15 | 15| 14 | 14 | 14 | 12 | 12|18 | 24 | 28 | 32|35 |37 |37 |37 (35|31 |30 |27 |24 |22|19]| 19
M RALAKSE (0.01ppmC) | 11 | 12 |12 |12 |12 | 11 | 14 |21 |25 |23 |16 |14 | 17| 15| 20| 19 |32 |37 |42 | 37|24 | 14| 11| 10
A% (0.01ppmC) 201|201{201|201|201|202|202 |202|203|203 202|202 |201|200|200 |200| 199|199 200|200 |200 | 200|200 | 200
2RAb/AkFE (0.01ppmC)  |2121212/213(213(213(213[216(224|228(226(219(216|218(215[220 (218|232 (236|242 (237 (224 (214|211 |210
R IR E (1 g/m3) 4 | 4| 4| 4| 4|5 |5 |7|8|8|8|7|5|4|4|3/|3|3|5|4|4| 4] 4] 4
Wk E (ng/m3) | 6.1(5.9(5.7|5.3|52|5.0|56|7.0|6.6|7.3|85|105/80|7.6|7.8|80|81|85|81|74|6.8|6.,5|6.3|5.9
(1 3) ERARHAMTHIE
i H A U K N & +
HE (HAD)
— & {uhi 2 (ppb) 0 0 0 0 0 0
—{{2 5% (ppb) 5
“ 21z (ppb) 9 11 11 13 13 13 11
Rt (ppb) 13 16 17 20 20 19 17
— W&k %(0.1ppm) 3 3 2 3 2 2 3
YAk A %2 & b (ppb,24 B 24 24 28 23 22 23 23
FHEMvRAEAZE (0.01ppmC) 16 17 17 21 28 17 16
A% (0.01ppmC) 201 201 201 201 200 201 202
Ak (0.01ppmC) 217 218 218 222 228 218 217
FlERL IR E (1 g/m3) 4 3 4 6 6 4 6
UL E (1 g/m3) 6.3 5.0 5.9 8.8 8.4 5.7 8.0




